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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], [T, "Topt'], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl', ’'optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-5 0
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unusual large postFgEt from yesterday (498), set to 450.0 ml.
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-5_0, Day=31 (2025-04-29)
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large discrepency for begining water status (454:87.0), set to 381.0 ml.
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large discrepency for begining water status (467:12.0), set to 376.0 ml.
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large discrepency for begining water status (402:3.0), set to 322.0 ml.
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large discrepency for begining water status (422:51.0), set to 348.0 ml.
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